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Eduardo says, The the population of Mexico City
million) and the population of New York is 11-2 million (to the nearest hundred
thousand)!

He says, The population of New York must be bigger than the population of
Mexico City because 11-2 million is bigger than 11 mill

Do you agree with him?

Three pupils are asked to estimate the answer to the sum 4243 + 1734,
Andrew says, To the nearest 100, the answer will be 5900

Bilal says, To the nearest 50, the answer will be 6000

Cheng says, o the nearest 10, the answer will be 5970:

Do you agree with Andrew, Bilal or Cheng?
Can you explain their reasoning?

The total population of Shanghai is 21 million, to the nearest million.

Ifat lunchtime everyone in Shanghai eats a bow of ice, how many grains of rice
do you estimate are eaten each lunchtime?
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Miss Wong, the teacher, has four cards. On each card is a number:

5999 | | 59943 | | 60026 | | 62312

She gives one card to each pupil. The pupils look at their card and say a clue.
Anna says, My number is 60 000 to the nearest 10 thousand:

Bashir says, My number has exactly 600 hundreds i it!

Charis says, My number is 59900 to the nearest hundred:

David says, My number is 60 000 to the nearest 10

Can you work out which card each pupi

had? Explain your choices.




